

Pay Estimate Created Date: September 15, 2023

Progress 24	Estimate Number	Prime	220520-G02 D & E Plumbing and Inc.	d Heating,	Pay Period Start Pay Period End	September September 2023	,	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,571,181.95 (\$63,548.49) \$1,507,633.46
Approval Date									By User
September 15, 2023			Generated and A	pproved (and	should be co	nsidered Draf	t) at the	Project Office Level by	martik3
September 15, 2023		R	eviewed and Approv	red (and shou	Ild be conside	ered Draft) at t	he Resi	dent Engineer Level by	LANEK1
September 19, 2023			R	eviewed and	Approved at	the Central Of	ffice Co	ntrollers Office Level by	ramses1
Original Compl	etion Date	e Current C	ompletion Date	Actual	Completion	Date	% of	Current Contract Amou	nt Complete
July 1, 2	023	Ju	y 1, 2023		July 1, 2023		99.70%		
	Cor	ntract Informationa	I Dates			Milestones			
Date Description	on Orig	ginal Completion I	Date Current Com	pletion Date	No Milesto	nes Exist for (Contrac	t	
Acceptance Date									
Awarded Date	Jun	e 2, 2022	June 2, 2022						
Letting Date	Мау	y 20, 2022	May 20, 2022						
Notice to Proceed	Date July	, 5, 2022	July 5, 2022						
Open to Traffic Date October 6, 2022 October 6, 2022									
Work Began Date	22								

Contract Total Pay	For Estimate No. 24			
		This Estimate	Previous	To Date
220520-G02				
	Total Posted Items Pay	\$51,809.72	\$1,451,326.24	\$1,503,135.96
	Gross Item Adjustments	\$0.00	(\$2,425.63)	(\$2,425.63)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			<mark>\$1,448,900.61</mark>	\$1,500,710.33
Contract Total Pay	able This Estimate:	\$51,809.72		

Contract Total Payable This Estimate: Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3419	0150	6084023	SIDEWALK HAND-RAILING WITHOUT BALUSTERS	LF	\$158.000	113	\$17,854.00
	0430	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$65,000.000	0.5	\$32,500.00
	0740	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	\$1,806.000	0.12	\$216.72
	0750	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$17.000	16	\$272.00
	0760	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	LF	\$95.000	3	\$285.00
	0775	9035069A	SHF-FLAT SHEET FLUORESCENT	SQFT	\$22.000	31	\$682.00
Project J7P34	419 - Total						\$51,809.72
Overall - Tota	al						\$51,809.72

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	n							
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work							
J7P3419	FAS S603(40)	ADA Improvements	Various	JASPER	at various locations in th	at various locations in the Southwest District								
Totals by J	Job Numbe	rs												
J7P3419		d Item Pay Item Adjustme	nts Gross Ite	em Pay	This Estimate \$51,809.72 \$0.00 \$51,809.72	Previous \$1,451,326.24 (\$2,425.63) \$1,448,900.61	To Date \$1,503,135.96 (\$2,425.63) \$1,500,710.33							
	Liquid	tive centive lated Damages Contract Adjus	tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00								



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

lotal ratio / An items / An Estimates (including units Estimate) lote: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
20520-G02	J7P3419	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$20,000.00	\$20,000.0
		0001	0020	2063000	CLASS 3 EXCAVATION	215.00	-115.00	100.00	CUYD	100.00	\$50.00	\$5,000.0
		0001	0030	2079903	MISC.ADA LINEAR GRADING, CLASS 1	5,182.00	90.00	5,272.00	LF	5,272.00	\$30.00	\$158,160.0
		0001	0040	2079903	MISC.ADA LINEAR GRADING, CLASS 2	324.00	0.00	324.00	LF	324.00	\$40.00	\$12,960.0
		0001	0050	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	3,493.00	-4.00	3,489.00	SQYD	3,489.00	\$15.00	\$52,335.0
		0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	1,087.00	-59.00	1,028.00	SQYD	1,028.00	\$15.00	\$15,420.0
		0001	0070	3105003	GRAVEL (A) OR CRUSHED STONE (B)	68.00	6.00	74.00	SQYD	74.00	\$100.00	\$7,400.0
		0001	0080	3106003	GRAVEL (A) OR CHAT (C)	107.00	0.00	107.00	SQYD	107.00	\$100.00	\$10,700.0
		0001	0090	6044011	PIPE COLLAR, TYPE A	1.00	3.00	4.00	EA	4.00	\$2,000.00	\$8,000.0
		0001	0100	6044013	PIPE COLLAR, TYPE C	3.00	-3.00	0.00	EA	0.00	\$2,000.00	\$0.0
		0001	0110	6081010	CONCRETE CURB RAMP	800.20	2.60	802.80	SQYD	802.80	\$162.00	\$130,053.6
		0001	0120	6081012	TRUNCATED DOMES	1,186.00	-132.00	1,054.00	SQFT	1,054.00	\$38.00	\$40,052.0
		0001	0130	6083003	3 IN. CONCRETE MEDIAN STRIP	1.70	3.60	5.30	SQYD	5.30	\$100.00	\$530.0
		0001	0140	6083008	8 IN. CONCRETE MEDIAN STRIP	117.40	-35.90	81.50	SQYD	81.50	\$85.00	\$6,927.5
		0001	0150	6084023	SIDEWALK HAND-RAILING WITHOUT BALUSTERS	239.00	-64.00	175.00	LF	175.00	\$158.00	\$27,650.0
		0001	0160	6085007	PAVED APPROACH, 7 IN.	32.90	0.00	32.90	SQYD	32.90	\$84.00	\$2,763.6
		0001	0170	6085008	PAVED APPROACH, 8 IN.	1,282.20	117.90	1,400.10	SQYD	1,400.10	\$85.00	\$119,008.
		0001	0180	6086004	CONCRETE SIDEWALK, 4 IN.	2,362.00	-37.20	2,324.80	SQYD	2,324.80	\$70.00	\$162,736.
		0001	0190	6086008	CONCRETE SIDEWALK, 8 IN.	86.80	98.90	185.70	SQYD	185.70	\$85.00	\$15,784.
		0001	0200	6091041	CONCRETE GUTTER TYPE A	1.00	0.00	1.00	LF	1.00	\$100.00	\$100.
		0001	0210	6091052	CURB AND GUTTER TYPE B	1,583.00	-254.00	1,329.00	LF	1,329.00	\$40.00	\$53,160.
		0001	0220	6099903	MISC.MOD. TYPE B CURB AND GUTTER	297.00	56.00	353.00	LF	353.00	\$45.00	\$15,885.
		0001	0225	6099903	MISC.(MOD. TYPE S CURB (12 IN30 IN.)	299.00	-113.00	186.00	LF	186.00	\$60.00	\$11,160.
		0001	0230	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	-2.00	2.00	EA	2.00	\$5,000.00	\$10,000.
		0001	0240	6141021	GRATE AND BEARING PLATE (3 FT. X 2 FT. OR 914 MM X 610	4.00	-3.00	1.00	EA	1.00	\$2,500.00	\$2,500.
		0001	0250	6143010	MM) MANHOLE FRAME AND COVER, TYPE 1-A	2.00	0.00	2.00	EA	2.00	\$800.00	\$1,600.
		0001	0260	6143013	MANHOLE FRAME AND COVER, TYPE 3	1.00	0.00	1.00	EA	1.00	\$600.00	\$600.
			0200	6161005	CONSTRUCTION SIGNS	840.00	-402.00	438.00	SQFT	438.00	\$8.00	\$3,504.
		0001										
		0001	0280	6161008		4.00	-2.00	2.00	EA	2.00	\$75.00	\$150.0
		0001	0290	6161025		440.00	-265.00	175.00	EA	175.00	\$18.00	\$3,150.0
		0001	0300	6161033		60.00	-60.00	0.00	EA	0.00	\$80.00	\$0.0
		0001	0310	6161040	FLASHING ARROW PANEL	4.00	-3.00	1.00	EA	1.00	\$1,250.00	\$1,250.0
		0001	0320	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	-2.00	2.00	EA	2.00	\$4,500.00	\$9,000.0
		0001	0330	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	40.00	-17.00	23.00	EA	23.00	\$140.00	\$3,220.0
		0001	0340	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$170,000.00	\$170,000.0
		0001	0350	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	56.00	39.00	95.00	LF	95.00	\$35.00	\$3,325.0
		0001	0360	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	307.00	2.00	309.00	EA	309.00	\$160.00	\$49,440.0
		0001	0365	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	159.00	-42.00	117.00	LF	117.00	\$2.50	\$292.8
		0001	0380	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	126.00	0.00	126.00	LF	126.00	\$2.50	\$315.0
		0001	0390	6207001	PAVEMENT MARKING REMOVAL	971.00	355.00	1,326.00	LF	1,326.00	\$2.50	\$3,315.0
		0001	0400	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	18.00	1.00	19.00	EA	19.00	\$250.00	\$4,750.
		0001	0410	6229903	MISC.SIDEWALK JOINT GRINDING		12.00	47.00	LF	47.00	\$50.00	\$2,350.
		0001	0001 0420 6229903 MISC.SIDEWALK MANICURING			1,542.00	-218.00	1,324.00	LF	1,324.00	\$10.00	\$13,240.0
		0001	0430	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$65,000.00	\$65,000.0



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

d date and can differ from the posted amount at the time the Estimate was Generated. Not

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
520-G02	J7P3419	0001	0440	7250324A	24 IN. PIPE GROUP B	281.00	-281.00	0.00	LF	0.00	\$80.00	\$0.
		0001	0450	7250412	12 IN. PIPE GROUP C	6.00	0.00	6.00	LF	6.00	\$30.00	\$180
		0001	0460	7250415	15 IN. PIPE GROUP C	41.00	0.00	41.00	LF	41.00	\$50.00	\$2,050
		0001	0470	7250418	18 IN. PIPE GROUP C	75.00	99.50	174.50	LF	174.50	\$60.00	\$10,470
		0001	0480	7311022	PRECAST CONCRETE DROP INLET 2 FT X 2 FT	4.00	6.00	10.00	FT	10.00	\$800.00	\$8,000
		0001	0490	7311032	PRECAST CONCRETE DROP INLET 3 FT X 2 FT	12.00	-9.00	3.00	FT	3.00	\$800.00	\$2,400
		0001	0500	7319913	MISC.JUNCTION BOX 3 FT X 3 FT	8.00	0.00	8.00	FT	8.00	\$800.00	\$6,400
		0001	0510	7320818A	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$600.00	\$60
		0001	0520	8031000A	TURF TYPE TALL FESCUE SODDING	918.00	222.00	1,140.00	SQYD	440.50	\$5.00	\$2,20
		0001	0530	8051000A	SEEDING - COOL SEASON GRASSES	0.20	0.00	0.20	ACRE	0.10	\$10,000.00	\$1,00
		0001	0540	8061006	ALTERNATE DITCH CHECK	24.00	-24.00	0.00	LF	0.00	\$20.00	\$
		0001	0550	8061007A	CURB INLET CHECK	12.00	-10.00	2.00	EA	2.00	\$250.00	\$50
		0001	0560	8061016	SEDIMENT REMOVAL	49.00	-49.00	0.00	CUYD	0.00	\$10.00	\$
		0001	0570	8061019	SILT FENCE	3,534.00	-3,534.00	0.00	LF	0.00	\$5.00	\$
		0030	0580	9020811	SIGNAL HEAD, TYPE 1S, PEDESTRIAN	28.00	-1.00	27.00	EA	27.00	\$515.00	\$13,90
		0030	0590	9020833	SH-FLAT SHEET - SIGNAL SIGN	42.00	0.00	42.00	SQFT	42.00	\$5.50	\$23
		0030	0600	9020834	SIGNAL SIGN, MOUNTING HARDWARE	47.00	0.00	47.00	EA	47.00	\$26.85	\$1,26
		0030	0610	9022708	POST, SIGNAL 8 FT.	23.00	-2.00	21.00	EA	21.00	\$1,350.00	\$28,35
		0030	0620	9024920	DETECTOR, PUSHBUTTON	47.00	0.00	47.00	EA	47.00	\$975.00	\$45,82
		0030	0630	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	6.00	-6.00	0.00	LF	0.00	\$18.50	\$
		0030	0640	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	312.00	20.00	332.00	LF	332.00	\$25.50	\$8,46
		0030	0650	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	619.00	-4.00	615.00	LF	615.00	\$31.50	\$19,37
		0030	0660	9028302	CABLE, 12 AWG 2 CONDUCTOR	580.00	120.00	700.00	LF	700.00	\$1.85	\$1,29
		0030	0670	9028308	CABLE, 16 AWG 2 CONDUCTOR	4,840.00	-360.00	4,480.00	LF	4,480.00	\$1.45	\$6,49
		0030	0680	9028310	CABLE, 16 AWG 5 CONDUCTOR	5,440.00	-770.00	4,670.00	LF	4,670.00	\$1.85	\$8,63
		0030	0690	9028311	CABLE, 16 AWG 7 CONDUCTOR	1,060.00	640.00	1,700.00	LF	1,700.00	\$2.65	\$4,50
		0030	0715	9028820	PULL BOX, CONCRETE, STANDARD	11.00	0.00	11.00	EA	11.00	\$2,985.00	\$32,83
		0030	0720	9029100	BASE, CONCRETE	10.10	-1.30	8.80	CUYD	8.80	\$1,075.00	\$9,46
		0030	0730	9029902	MISC.PEDESTRIAN PUSHBUTTON EXTENSION	2.00	6.00	8.00	EA	8.00	\$1,000.00	\$8,00
		0040	0740	9031010	CONCRETE FOOTINGS, EMBEDDED	2.50	0.30	2.80	CUYD	2.80	\$1,806.00	\$5,05
		0040	0750	9031280	2.5 IN. PSST POST - 12 GA.	288.00	32.00	320.00	LF	320.00	\$17.00	\$5,44
		0040	0760	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	54.00	6.00	60.00	LF	60.00	\$95.00	\$5,70
		0040	0775	9035069A	SHF-FLAT SHEET FLUORESCENT	263.00	0.00	263.00	SQFT	263.00	\$22.00	\$5,78
		0030	5001	9025020	CONDUIT, 1 IN., LOOP DETECTOR WITH TRACER WIRE	0.00	0.00	0.00	LF	0.00	\$14.70	\$
		0030	5002	9028510	CABLE, LOOP DETECTOR, LEAD-IN	0.00	1,370.00	1,370.00	LF	1,370.00	\$1.31	\$1,79
		0030	5003	9028500	CABLE, LOOP DETECTOR, IN DUCT	0.00	2,580.00	2,580.00	LF	2,580.00	\$6.09	\$15,71
		0030	5004	9028812	PULL BOX, PREFORMED CLASS 3	0.00	1.00	1.00	EA	1.00	\$2,386.70	\$2,38
		0030	5005	9029902	MISC.REMOVE AND REPLACE CLASS 1 PREFORMED PULL BOX	0.00	1.00	1.00	EA	1.00	\$3,095.39	\$3,09
		0001	5006	6141120	CURVED VANE GRATE AND FRAME (2 FT. X 2 FT. OR 600MM X	0.00	2.00	2.00	EA	2.00	\$800.00	\$1,60
		0001	5007	5021108	600MM)		47.60	47.60	SQYD	47.60	\$80.00	\$3,80
			5008	9039901	CONCRETE PAVEMENT (8 IN. NON-REINF)		1.00	1.00	LS	1.00	\$673.00	\$3,60
		0040			MISC. Yield Sign Materials Delivery & Mobilization							
		0001	5009 5010	2029901 MISC.SW Island Removal at Rte171 & Madison		0.00	1.00	1.00 811.00	LS	811.00	\$3,261.34	\$3,26
			Beads									
		0001	5011	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN	0.00	27.00	27.00	EA	27.00	\$57.75	\$1,55



N

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: I	Posted C	uantities and	Values are	based on Re	eport G	Generated date and can differ from the posted amount at the time the Estimate was Generated.	

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220520-G02 Ove	erall - Total	Value Post	ed to Dat	e as of Repo	ort Generated Date							\$1,503,135.96



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

166

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J7P3419

0270 - Tota

Line Number	Item Code		Desci	ription	DWR Date	DWR Approval Date	Quantity Posted	Units		Loc	ation		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	8	Comments	
0150	6084023	SIDEWALK HA	ND-RAILING	WITHOUT BALUSTERS	7/11/23	9/15/23	-2.00	LF	Webb City - 171	and Jefferso	n						Deducting location.	2' due to overpayment. 60'	was installed at this
					8/31/23	9/15/23	115.00	LF	Webb City - 171 SW & SE Corne		ŝt						SW @ 31' SE @ 84'		
0430	6274000	CONTRACTOR	R FURNISHEE	SURVEYING AND STAKI	9/6/23	9/15/23	0.50	LS	All contract loca	itions									
0740	9031010	CONCRETE FO	DOTINGS, EN	IBEDDED	9/6/23	9/15/23	-0.02	CUYD	Plan locations -	rounding							Rounding	to contract quantity	
						9/15/23	0.14	CUYD	MO43/41st Stre	et; Location 6	6		39+28	30 LT					
0750	9031280	2.5 IN. PSST P	OST - 12 GA.		9/6/23	9/15/23	16.00	LF	MO43/41st Stre	et in Joplin; L	ocation #6		39+28	30 LT					
0760	9031281	POST ANCHO	R FOR 2.5 IN.	PSST - 7 GA.	9/6/23	9/15/23	3.00	LF	MO43/41st Stre	et in Joplin; le	ocation #6		39+28	30 LT					
0775	9035069A	SHF-FLAT SHE	EET FLUORES	SCENT	9/6/23	9/15/23	7.00	SQFT	MO43/41st Stre	et in Joplin; L	ocation #6		39+28	30 LT					
						9/15/23	24.00	SQFT	Locations 1, 12,	, 13, 14, 15, r	ounding						Paid to pla contract pl	in quantity including roundin ans	g as shown in the
ne infor	mation be	low this line	are details	s for Construction Sig	ns (if ap	plicable).												
Project	Line Nur	nber DW	/R Date	Total Quantity Posted Fo	r DWR Dat	e	Sig	gn Inform	ation	Station	Log Mile	Location	Number of	Items	SF Each S	ign S	pecial Sign	SF Each Special Sign	Total SF to Post
I7P3419	0270	October	12, 2022	166		R9- CL0	9 24x12 DSED	2 2.00 \$	SIDEWALK	portable			11.00	2	2.00				22.0
						WO20-1 4 ROAD/BRID			10 WORK AHEAD	portable		portable	6.00	1	16.00				96.0
								WO21-5 48x48 16.00 SHOULDER WORK AHEAD		portable		portable	3.00	1	16.00				48.0



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
Tiojoot	LING	Decomption	Туре	Adjustment Type	Number	Date	Ву	Amount	Ternette
J7P3419	0050	TYPE 1 AGGREGATE	Price FUEL		3	Nov 1, 2022	SYSTEM	(\$27.58)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		FOR BASE (4 IN. THICK)			4	Nov 16, 2022	SYSTEM	(\$3.18)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Dec 1, 2022	SYSTEM	(\$9.38)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Dec 15, 2022	SYSTEM	(\$4.33)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Jan 15, 2023	SYSTEM	(\$34.47)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Feb 1, 2023	SYSTEM	(\$26.44)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					10	Feb 15, 2023	SYSTEM	(\$69.51)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Mar 2, 2023	SYSTEM	(\$76.84)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Mar 15, 2023	SYSTEM	(\$25.17)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					13	Apr 1, 2023	SYSTEM	(\$64.16)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Apr 15, 2023	SYSTEM	(\$44.20)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					15	May 2, 2023	SYSTEM	(\$86.52)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					16	May 15, 2023	SYSTEM	(\$94.97)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Jun 2, 2023	SYSTEM	(\$67.12)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					18	Jun 15, 2023	SYSTEM	(\$69.39)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					19	Jun 30, 2023	SYSTEM	\$1.57	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					20	Jul 17, 2023	SYSTEM	(\$41.93)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					22	Aug 16, 2023	SYSTEM	(\$0.81)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					23	Sep 5, 2023	SYSTEM	(\$9.52)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$753.95)	
			Price FUEL - T	otal				(\$753.95)	
	0050 -	Total						(\$753.95)	
	0060	AGGREGATE	Price FUEL		5	Dec 1, 2022	SYSTEM	(\$0.57)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		FOR BASE			6	Dec 15, 2022	SYSTEM	(\$8.95)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Jan 15, 2023	SYSTEM	(\$12.78)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Feb 1, 2023	SYSTEM	(\$6.62)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Mar 2, 2023	SYSTEM	(\$123.54)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Mar 15, 2023	SYSTEM	(\$31.16)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					13	Apr 1, 2023	SYSTEM	(\$18.93)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					14	Apr 15, 2023	SYSTEM	(\$18.28)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					20	Jul 17, 2023	SYSTEM	(\$11.97)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$232.80)	
			Price FUEL - T	otal				(\$232.80)	



Sep 20, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3419	0060 -	Total						(\$232.80)	
	0070	GRAVEL (A) OR CRUSHED STONE (B)	Overrun	Overrun	16	May 15, 2023	SYSTEM	(\$991.00)	
					22	Aug 16, 2023	SYSTEM	\$991.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',100.00000 - 100.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0070 -	Total						\$0.00	
	0130	3 IN. CONCRETE MEDIAN	Overrun	Overrun	12	Mar 15, 2023	SYSTEM	(\$50.00)	
		STRIP			13	Apr 1, 2023	SYSTEM	\$50.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',100.00000 - 100.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0130 -	Total						\$0.00	
	0140	8 IN. CONCRETE	Overrun	Overrun	18	Jun 16, 2023	SYSTEM	(\$161.50)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
		MEDIAN STRIP			20	Jul 17, 2023	SYSTEM	\$161.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',85.00000 - 85.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	errun - Total				\$0.00	
	0140 -	Total						\$0.00	
	0160	PAVED APPROACH, 7	Material		5	Dec 1, 2022	SYSTEM	(\$1,604.40)	
		IN.		- Total				(\$1,604.40)	
			Material - Tota	otal				(\$1,604.40)	
			MaterialCredit		6	Dec 15, 2022	SYSTEM	\$1,604.40	
				- Total	Total			\$1,604.40	
			MaterialCredit	- Total				\$1,604.40	
			Price FUEL		5	Dec 1, 2022	SYSTEM	(\$2.10)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Dec 15, 2022	SYSTEM	(\$10.63)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$12.73)	
			Price FUEL - T	otal				(\$12.73)	
	0160 -						0.10	(\$12.73)	
	0170	PAVED APPROACH, 8 IN.	Price FUEL		3	Nov 1, 2022	SYSTEM	(\$49.09)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Dec 15, 2022	SYSTEM	(\$8.82)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Mar 2, 2023	SYSTEM	(\$483.25)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Mar 15, 2023	SYSTEM	(\$43.29)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					16 17	May 15, 2023 Jun 2,	SYSTEM	(\$35.98)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					18	2023 Jun 15,	SYSTEM	(\$102.89)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					20	2023 Jul 17,	SYSTEM	(\$125.83)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					23	2023 Sep 5,	SYSTEM	(\$14.82)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
						2023		, <i>)</i>	
				- Total				(\$1,379.32)	



Sep 20, 2023

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3419	0170	PAVED APPROACH, 8 IN.	Price FUEL - T	otal				(\$1,379.32)	
	0170 -	Total						(\$1,379.32)	
	0190	CONCRETE SIDEWALK, 8	Overrun	Overrun	18	Jun 16, 2023	SYSTEM	(\$1,751.00)	
		IN.			20	Jul 17, 2023	SYSTEM	\$1,751.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',85.00000 - 85.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0190 -	Total						\$0.00	
	0210	CURB AND GUTTER TYPE B	Overrun	Overrun	17	Jun 2, 2023	SYSTEM	(\$1,020.00)	
					19	Jun 30, 2023	SYSTEM	\$1,020.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',40.00000 - 40.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0210 -	Total						\$0.00	
	0220	MISC. PAVED DRAINAGE	Overrun	Overrun	18	Jun 16, 2023	SYSTEM	(\$2,011.50)	
					20	Jul 17, 2023	SYSTEM	\$2,011.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',45.00000 - 45.00000, 'is applied (if non-zero).
				Overrun - T	- Total			\$0.00	
			Overrun - Tota	al				\$0.00	
	0220 -	Total						\$0.00	
	0350	PREF THERMO	Overrun	Overrun	17	Jun 2, 2023	SYSTEM	(\$157.50)	
					20	Jul 17, 2023	SYSTEM	\$157.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0350 -	Total						\$0.00	
	0400	PAVEMENT MARKING	Overrun	Overrun	21	Aug 1, 2023	SYSTEM	(\$250.00)	
		REMOVAL (SYMBOLS)			22	Aug 16, 2023	SYSTEM	\$250.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',250.00000 - 250.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0400 -	Total						\$0.00	
	0410	MISC. COLDMILLING	Overrun	Overrun	5	Dec 1, 2022	SYSTEM	(\$350.00)	
					11	Mar 2, 2023	SYSTEM	\$350.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',50.00000 - 50.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0410 -	Total						\$0.00	
	0460	15 IN. PIPE CULVERT	Material		2	Oct 17, 2022	SYSTEM	(\$2,050.00)	
		GROUP C		- Total				(\$2,050.00)	
			Material - Tota	ıl				(\$2,050.00)	
			MaterialCredit		3	Nov 1, 2022	SYSTEM	\$2,050.00	
				- Total				\$2,050.00	



Sep 20, 2023

ect	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
419	0460	15 IN. PIPE CULVERT GROUP C	MaterialCredit	- Total				\$2,050.00	
	0460 -	Total						\$0.00	
	0530	SEEDING - COOL SEASON GRASSES	Material		20	Jul 17, 2023	SYSTEM	(\$1,000.00)	
				- Total				(\$1,000.00)	
			Material - Tota	I				(\$1,000.00)	
			MaterialCredit		21	Aug 1, 2023	SYSTEM	\$1,000.00	
				- Total				\$1,000.00	
			MaterialCredit - Total					\$1,000.00	
	0530 -							\$0.00	
	0550	CURB INLET CHECK	Material		11	Mar 2, 2023	SYSTEM	(\$250.00)	
				- Total				(\$250.00)	
			Material - Total					(\$250.00)	
			MaterialCredit		12	Mar 15, 2023	SYSTEM	\$250.00	
				- Total				\$250.00	
			MaterialCredit	- Total				\$250.00	
	0550 -	Total						\$0.00	
	0590	SH-FLAT SHEET - SIGNAL SIGN	Material		11	Mar 2, 2023	SYSTEM	(\$89.10)	
					12	Mar 15, 2023	SYSTEM	(\$89.10)	
					- Total				
				Material - Total				(\$178.20)	
			MaterialCredit		12	Mar 15, 2023	SYSTEM	\$89.10	
				- Total	13	Apr 1, 2023	SYSTEM	\$89.10 \$178.20	
			MaterialCredit					\$178.20	
	0590 -	Total	materialoreun	- 10(a)				\$0.00	
	0620	DETECTOR, PUSHBUTTON	Construction Stockpile		11	Mar 2, 2023	SYSTEM	(\$10,764.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					13	Apr 1, 2023	SYSTEM	(\$8,372.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					15	May 2, 2023	SYSTEM	(\$4,186.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					17	Jun 2, 2023	SYSTEM	(\$1,794.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					18	Jun 15, 2023	SYSTEM	(\$2,392.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					19	Jun 30, 2023	SYSTEM	(\$598.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total Stockpile - Total				(\$28,106.00)	
			Construction S Construction Stockpile STMI	Stockpile - To		1.0	0)/0777	(\$28,106.00)	
				Total	7	Jan 2, 2023	SYSTEM	\$28,106.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total tockpile STMI - Total				\$28,106.00	
	0000	T-4-1	Construction S	Stockpile STI	vii - Total			\$28,106.00	
	0620 - 0660	CABLE, 12	Overrun	Overrun	7	Jan 2,	SYSTEM	\$0.00 (\$222.00)	
		AWG 2 CONDUCTOR			11	2023 Mar 2,	SYSTEM	\$222.00	Unit price based on averaged overrun adjustments for installed quantity on all
						2023			previous payment estimates. Price Adjustments of ',1.85000 - 1.85000, 'is



Sep 20, 2023

ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
419	0660	CABLE, 12	Overrun	Overrun					applied (if non-zero).
		AWG 2 CONDUCTOR		Overrun - T	Overrun - Total				
			Overrun - Tota	ıl				\$0.00	
- 1	0660 -	0660 - Total							
	0690	CABLE, 16 AWG 7 CONDUCTOR	Overrun	Overrun	7	Jan 2, 2023	SYSTEM	(\$1,696.00)	
					11	Mar 2, 2023	SYSTEM	\$1,696.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.65000 - 2.65000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0690 -	Total						\$0.00	
	0715	PULL BOX, CONCRETE, STANDARD	Material		7	Jan 2, 2023	SYSTEM	(\$8,955.00)	
				- Total				(\$8,955.00)	
			Material - Tota	l				(\$8,955.00)	
			MaterialCredit		8	Jan 15, 2023	SYSTEM	\$8,955.00	
				- Total				\$8,955.00	
			MaterialCredit	MaterialCredit - Total					
	0715 -	Total						\$0.00	
	0730	MISC.	Construction Stockpile		11	Mar 2, 2023	SYSTEM	(\$160.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					14	Apr 15, 2023	SYSTEM	(\$80.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$240.00)	
			Construction Stockpile - Total					(\$240.00)	
			Construction Stockpile STMI		7	Jan 2, 2023	SYSTEM	\$240.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total Construction Stockpile STMI - Total					\$240.00	
			Construction \$	Stockpile STI	MI - Total			\$240.00	
	0730 -							\$0.00	
	5006	CURVED VANE GRTE AND FRAME(2 FT. X 2 FT)	Material		19	Jun 30, 2023	SYSTEM	(\$1,600.00)	
					20	Jul 17, 2023 Aug 1,	SYSTEM	(\$1,600.00)	
					21	2023	STOTEM	(\$1,600.00)	
				- Total				(\$4,800.00)	
			Material - Total					(\$4,800.00)	
			MaterialCredit		20	Jul 17, 2023	SYSTEM	\$1,600.00	
					21	Aug 1, 2023	SYSTEM	\$1,600.00	
					22	Aug 16, 2023	SYSTEM	\$1,600.00	
				- Total				\$4,800.00	
			MaterialCredit	- Total				\$4,800.00	
	5006 -	Total						\$0.00	
	5007	CONCRETE PAVEMENT (8 IN. NON- REINF)	Price FUEL		18	Jun 15, 2023	SYSTEM	(\$27.64)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					19	Jun 30, 2023	SYSTEM	(\$19.19)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$46.83)	
			Price FUEL - T	otal				(\$46.83)	
	5007 -	Total						(\$46.83)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3419	5010	MISC. PAVEMENT MARKINGS	Overrun	Overrun	21	Aug 1, 2023	SYSTEM	(\$525.00)	
					22	Aug 16, 2023	SYSTEM	\$525.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.50000 - 2.50000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - Total					\$0.00	
	5010 -	Total					\$0.00		
J7P3419 - Total									
Overall -	Total							(\$2,425.63)	



There are no contract adjustments to display for this contract.